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What you will learn about:
Solving Equations Using Addition and Subtraction
Properties

Determine whether a number is a solution to equation
Step 1 - Substitute the number in for the variable (_‘;)

Step 2 — Simplify the expressions on both sides of the
equation

Step 3 — Determine whether the resulting equation is true
(Left side is equal to the Right side)

If true, the number is a solution
If false the number is not a solution

Determine whether

3
xzzisasalurion ofdx—-2=2x+1

Solubion 4(2)-2-2(3)
G~ = 3+
q -y

Isy = 2 a solution of Sy +3 = 10y — 4
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Solve: 10 = Ip

y+37 =-13
-3 =
:"S-D
x+19=28
-4 -]
X= -1
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Addition Property of Equality
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Solving Equations that require
Simplification

Solve:

a— 28 =-37 n—61=-55
pas  Fag bl ol
o= 9 n= b
5 z LN

-3-1+ p-i--isy
5] FE
5 3 .1
Y=g P G

n—063=-42 b—-047 = 1.23
}0.65 Foed LA LS. & B
N=-357 L= 170

(}x—s—ax—%ﬂ (8y-4—7y—7\:—4
X-1 =7 V-i=-Y
Y= 1% \ =T

~ N

5(x—4)—4x = -8 5(p—-3)—4p=-5

Sx-20-Ux=-38 Sp-15-Yp=-5

—AD =~ —_
. pris=-s
Y=l p=1©
32y —1)-5y=2(y +1) (y+3)

Gy-5-Sy = ¥yt2 Ay-G

V-35= -4
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Translate to an equation and
Solve

4(2h—3)—7Th=6(h—2) —6(h — 1)
Sh-12 =Th=GLh-12 =G h 6

h-12=-6
h= 6

Al
Stepl- [ocele the lftiu.:.f “ wevds
trenslete inta = St'b"\.

Step2- Trenslete werds to th left
0( cil-:.lt irto cn Alsdnw.i(_. EH-PIF:)S-'-I-[

Step3 - |reaslefr words to the Right o f
efho‘ﬁ into &n Al;r.-L"l'f. EAPH-WM'\

Translate and Solve:

Eleven more than 0 54,
X+l =84 Xx=4Y3

Translate and Solve:
Ten more than x is equal to 41.

Yo = LI'
Y= 31

Translate and Solve:
Twelve less than x is equal to 51.

)C—-ll-::.Sl
X=63

Translate and Solve:
The difference of 12t and 11t is -14.
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The Macintyre family recycled newspapers for two months.
The two months of newspapers weighed a total of 57

pounds. The second month, the newspaper weighed 28
pounds. How much did the newspaper weigh in the first

month?
X+x9=57
~2¥% ~1¥
XY= &4 lbs

Randell paid $28,675 for his new car. This was $875 less

than the sticker price. What was the sticker price of the
car?

X-9%15 = 9»‘6,('75"
} 4715 §15°

X~ ﬂz ipso

The admission price for the movies during the day is $7.75.

This is $3.25 less the price at night. How much does the
movie cost at night?

X~%25="727¢
/ 2.25
Y= )l.oD
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Division Property of Equality

Multiplication Property of
Equality

What you will learn about:

Solving Equations Using Division and Multiplication

Properties

A=b
& _b
C - C
L=b
GcC = be
Solve
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53

—6(r—2)—12 =30
“br+12-12=30

~levr = D0
= -5

Translate and Solve:

The number 143(@3 the product of -11 and y.

JWBZ-HV
\/:"I})
n divided by 8(9-32.
n
96%}&}1}})

NnN-ase
The quotient of y and -4\i 68.
¢ ,,)( __ZL}_@ 2
\/ = -27X4
Three-fourths of p is 18.
(BGFOY
p= a4
The sum of three-eighths and x is one-half.
Xr3=%
Y=
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Denae bought 6 pounds of grapes for $10.74. What was
the cost of one pound of grapes?

10.74 G?P-: 1074
C =

- Jﬁ"!.?ff/”:)

At JB’s Bowling Alley, 6 people can play on one lane for
$34.98. What is the cost for each person?

o = 3148
BY.5Y C= QAN”
c= ¢

Andreas bought a used car for $12,000. Because the car
was 4 years old, the price was z;of the original price, when
the car was VS:. What was the original price of the car?

q ) —_-.CB- 3 ODDX %)

>
¥4
P'—‘- [(,J ovo
The annual property tax on the Mehta’s house is $1,800,
calculated as % of the assessed value of the house.

¥

What is the assessed value of the Mehta’s house?

[ooV %-X)= ésm)ﬂmoo
)6x = lgoyoov X = 120,600

Stella planted 14 flats of flowers in 3 of her garden. How
many flats off:( rs would she need to fill the the whole

garden? (L‘fv

X = 9»\ Plds
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